
Additional Problems on Capital Structure
1. MVP Inc., a manufacturing firm with no debt outstanding and a market value of $100 million is considering borrowing $ 40 million and buying back stock. Assuming that the interest rate on the debt is 9% and that the firm faces a tax rate of 35%, answer the following questions:
a.  Estimate the annual interest tax savings (shield) each year from the debt. 

b.  Estimate the present value of interest tax savings, assuming that the debt change is permanent. 

c.  Estimate the present value of interest tax savings, assuming that the debt will be taken on for 10 years only. 

d.  What will happen to the present value of interest tax savings, if interest rates drop tomorrow to 7% but the debt itself is fixed rate debt? 

2. Scuba Pro Inc. is unlevered, is valued at $100,000, and has 5,000 shares outstanding.  The company announces that in the near future it will issue $30,000 of debt and buy back $30,000 of stock.  If the firm is in the 34% tax bracket, how many shares of stock will be purchased? 

3. The Alta Mining company is a zero-growth firm with an EBIT of $200,000 and corporate tax rate of 40%.  Alta uses $1,000,000 of debt financing, and the cost of equity of an unlevered firm in the same risk class is 15%.  What is the value of the Alta company according to MM with corporate taxes?
4. Governments often step in to protect large companies that get into finanical trouble and bail them out. If this is an accepted practice, what effect would you expect it to have on the debt ratios of firms? Why? 
